EARAROBREBRT —5 XN—ZXBISH—F 20226685288 (A) 6B

W EsslsR C12 YSZ—ig BRI
[xE%] 15 :400,000H  23&:120,000 W  33#&:60,000 M  43%&:40,000H  53&:20,000H
BRE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
N SHEA : 33- - WEET ()
: (| TZY—2=FvY o4 | oHE 1.(4_9).5 3331 | 42.1 4 (41)5) Eaed A
Rib—trya—sy B:E—FRS5a4V APO%S
S = 4 | BALES 1:49.6 7-7-63 |41.1| - 3 | 505 |EEIES (%)
2(8 8| EAY=v I * #55.0 2E) ) | @ Sr=AbEYay
RiISVFURR BEXIYTID BIEFRUS
S~ 5~ t 6 | MEERE 1:50.3 5-5-4-4 | 42.4| — 2 456 | BREIEA (S54)
31111 Z¥YZ¥aANT i 54.0 ) “ |.B SELTPASUR
R:TALhik—L §:ZY/INT [Shirdie]
o= KIEEE] : -8-8- - ALUTEE ()
1 DIESCER R0 Vet | e S I e
RNy v = B:YTLTHAHE =
Sho e » 4 | EEED 1:52.3 2-2-2-2 | 451 -— 1 486 | BERGED ()
5 5|Yarkdr—7 * 540 3 (g | KAJ IMOTOHD ()
RYDRAT4 TSR B:SX=)b N7 7—L4
S~ g o6 | RIEY 1:52.8 4-4-56 | 45.0| - 6 | 448 |FABR— (HH)
6 3| TYARTA—R A51.0 2172 (6 |HEOHE
RiN—EVIv— 8B:07+—R /=Y Tr—I
O~ 3~ HLEFHSEE : -1-1- - IOEEER (R
7 4| VYT F—= o4 | A% 1.(553).9 1-1-1-5 | 47.1 7 (4+313) %q:{aqz( )
R:IAYVISwya B:Ea—vhIz BT 7—LA
*%Ez . —h—7 ! —_ ¥$B%_ (E*")
8l7|7 | 7voRT* 4 | BER 1.(585).6 6-6-7-8 | 46.7 8 5'2(1; andyg el
R:EVFOVY 8 hIYIF kv v ke ]
@ 11— —BBIEfI
13—7F— 4,5,6,3,1,7,8,2
20—F— 4,5,6,3,1,7,8,2
30—7— 4,5,6,1,3,8,7,2
40—7+— 6,5,8,1,4,3,2,7
o ILRE
B s 6 4500 | | DA R 6-8 330M4 5= 6-8 830M4 3EE 1-6-8 1,500
B B 6 160/ 1-6 310 ==} 6-8 2,220M 3EH 6-8-1 9,760M
8 120/ 1-8 3804
1 120/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



